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000000000 irb(Retwrn]0000000000b000000
000000000000000 0SO00000000004irb00000
000000000000000000000000000 irb00000

000000000000000(Retun00000000(I00000

cm12345$ irb(J)
irb(main):001:0> |

0000000000000000000000 irb(main):001:0>00
00000 irb0000000000
000000000000000000000000000000000
00 1+1 (4000000000

irb(main) :001:0> 1+1
=> 2
irb(main):002:0> |

00000RBO0000000=00002000000000000000
0000000000000000000000000000000000
0000000000000000000000000

irb00000000irb00000000000000000(Control]D
000000

irb(main) :002:0> D

cm12345$ ||

oboooboo0 irv0000000000DO000000O0C0O0O00000O0
gobob irvgdbgobobooobogboobooboooabo

1.2 QgOoogdd

1.21 0OO0OO0O0OU

gobgbobooboboobooboobooboobooon

irb(main):003:0> 7 - 2 # 00O
=> 5

irb(main):004:0> 7 * 2 # 0O0OO
=> 14

irb(main):005:0> 7 / 2 # O00OO0OO
=> 3

irb(main):006:0> 7 % 2 # 000000
=> 1
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irb(main):007:0> 7 *xx 2 # OO
=> 49

ooooooboooobooo# 0boobooooboooobooooobo
gboboooooboobobobooooboobobobooboooono #
gboooooobooooobobooobooboon

oboooooboooobobobooobobooooobooooobon
goboboobooboobDx,=00b00b0zy00000O000O0
O000O0o00DO0O00o0ooObo0o0oDoo0oOox/,%«»x00000000
0000000000000 000OO0 3.5 00000000000000
gbooooobooooboooo

gboooooboobooooboboooooboobooooooboooboo
gboooobooooboboooobooooboboooboobooon
oboooboooooomoobooooooooooobooobooooo
goooogo

irb(main):009:0> 7 - 2 *x 3
=> 1

irb(main):010:0> (7 - 2) * 3
=> 15

gboboooboobobooooobooboooboboobOobooooooobo
o0oo0DO0o0 /0000000000000 COO0O0O0DORWbyODOOOO
obooooboooobobooooboboboobooboooobooon
oood

irb(main):012:0> 7.0 / 2
=> 3.5

irb(main):013:0> 7 / 2.0
=> 3.5

U000 RubyOODODO 1000 1.00000000000000000O
gbooooboboooooboboooboobooon

00 1.1 (00000) 0000000 Ruby0 00000000000
a) 560 970 3300
b) 4700 38
¢) 35000 22
d)340 1500000

e) 340 15000000
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f) 3400 15(000)
g) 56 0 160 (x»00D00O)
h) 56 0 16 0 (»+00000)

i) 000000000 Body Mass Index (BMI). 000 18 cm 00O O
104 kg0 00000 BMIOOOO (kg) 000 (m)00000000
good

(0000D000: L)

1.2.2 QOO0

gbooboobooooboboooobooooboobooooobo
RubyODODODODDDODDODODO include(Math) OO0DOOOOODODODO
oboooooo

irb(main) :003:0> include (Math) #000000000
=> 0Object

irb(main) :004:0> sqrt(2)

=> 1.4142135623731

irb(main) :005:0> cos(3.141592/3)

=> 0.50000018867511

0000@O0O0D0D00000D00000000000RI00OD v200

O0OR3000 cos(r/3) 00000 O0ODOOOOODOODOOO 0°O0O 360°

gotob2r0b0o0o00obOob0OO0O0obOO0ObOOooOoobooboonbooon
RubyOOOODODOOOODOOOODOOOOODOOOO

oooooo o0 oooooo oo
sin(x) sinz exp(x) €*
cos(x) cosx log(x) logx
tan(x) tanz logl0(x) logiyx

sqrt(x) 7z

(DOoOo000O: @4

1.3 00

1.3.1 ODOO0OO04Odobo

OO0O0D0O000000000BMIOOODODO 104 / (188 / 100.0) **
2000000000000 0DOO0OOODOOODOOODOOODOOOnOO
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oooooooooo0 hem, 00 wkg O BMIO gooooo
oooooooooooon
gbooboobooooboboooobooooboobooooobaon

oboooobooooobooooboobooooboooooon

(h7100.0)2

irb(main):003:0> h=188.0
=> 188.0
irb(main) :004:0> w=104.0
=> 104.0

U0 h=188.00 000000 n00000ODOOODOOODOOOODOO 188
gboooooboobooboobobooooobooogooo
obooobooboooobobooo

irb(main):006:0> w / (h/100.0) ** 2
=> 29.4250792213671

O000000000000000000000000000000000
0oo
(0000000 : CHLCaLTD)

1.3.2 0ODOOOOogo-~

00 104.0 / (188.0/100.0) *x 20000000 w / (h/100.0) *x*
200000000000000O0000O0O000OOCOOOOOODOOOO0
gboooobooooobOoboboooboboooboobooooono

gbooooboooboooo

0000 104.0 / (188.0/100.0) +x+x 2000000000000 BMI
oooooO0O000000000000D0 10400 18000000000
o0o00oD00o0o00o0oo0o0obooDboO0nD w/ (h/100.0) xx 2000
O0wOODO (weight) O h OO0 (height) DOODOO0OO0O0OOO0OOOOO
oooooooooooooboooooob0ooboooooDooooooog
ooopooogoo

000 Reuby OODOODOOOODOOODOOODOODOOwDOOODO
weight, hOOO0O0O height 000000020 000000000000
gooooooooooOoooooOoooooOooobooooobpooooo
00 0Obody_weight_in_pound (000000000 0O)0000O0O0O0OOO
00 ()00O000ooo0o00oooOO0o0D0ooOoo0oooOooooooo
0000000000000 000UObody_weight_in_poundd DO OO0
ooooo
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oboooobooooooobono

obooooooboooooboobooooboooooobooooooo
o0oooooooooooDDoO0O0o000 0kgOOOODODO BMIO
obooobooooobbobooooooobooobooobo0o woOoOooo
obooooooooooboooooooo

irb(main) :008:0> w=104.0-10

=> 94.0

irb(main):009:0> w / (h/100.0) *x*x 2 #00000
=> 26.5957446808511

oo irbDD,DDDDDDDDDDDDDDDDDDDDDDDD

DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
gbooooboobooooooo

1.4 0O0OOOO

1.4.1 BMIOOOOODO

oooooBMIODOOOOOOOOOOOOOOOOODOOOOOOO0
OO0 height 000 weight 000000000 BMIO

weight

(1.1)

00000000000 00000 BMI(188,104) OO BMI(174,119x0.454)
obooooooooooooo
Ruby DOO0ODOOOODOOOOODOOOOODODOOO

irb(main) :003:0> def bmi(height,weight)
irb(main):004:1> weight / (height/100.0) *x 2
irb(main):005:1> end

=> nil

000000 def0end00000000O00DOO00DOOODOOOODOO
O0@00OO00@I0 =0000R0O0O0O00000000

000000000000000000 (0@220)000000004d0
oooo

irb(main) :007:0> bmi (188.0,104.0)

=> 29.4250792213671

irb(main):008:0> 1.1%bmi(174.0, 119.0 * 0.454)
=> 19.6289470207425
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00 1.2(00000) 00000000000 UOOOOOUOOOOOO
goooooog

a) 0000 20 (x,y)0 (w,v)OOOOOOO distance(x,y,u,v).

b) f0000i0000000000000000 feet_to_cm(f,1). O
00010000 =12000 =3048cm 0000

c) pO000 o00UO0OOOUODOOOOODO pound_to_kg(p,o). 100
O=16000 =04536 kg0 OO0

(0000D000: LR)

142 0OO0O0OO0O0O0OO0

00000000000 00o0o00o0ouooooUuooooo
ooooooooooooooooooooooogo f0000i000d
OO0pO00o0OCOOOOOBMIOOOODO bmi_yp(f,i,p,o) 0000
000000D00000000 bmi, feet_to_cm (0 O [L2D), pound_to_kg
(002 0o00D0oU0bO0oU00o0oUOoooDUOooooDoo

irb(main):010:0> def bmi_yp(f,i,p,0)
irb(main):011:1> bmi(feet_to_cm(f,i),
irb(main) :012:2% pound_to_kg(p,0))
irb(main):013:1> end

=> nil

oboooobooobooboobooobobooobbooboooo BMIOODOODOO
oooooooogsbbo00 nngoogoo ivobooboobooDo
gboobooboobooboboooobooooboOooooon

irb(main):015:0> bmi_yp(5,11,170,0)
=> 23.7103429969605

(000D0D000: @)

1.4.3 0000~

000030000a b ¢c000000000000000 HeronO
00000 Vs(s—a)(s—b)(s—c)0000000000000000 s=
sla+b+c)0000
000 Ruby00O00000000000000000000000O00
oooooooooo
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def heron(a,b,c)
s = 0.5x(a+b+c)
sqrt (s * (s-a) * (s-b) * (s-c))

end

0000RO00000s0 3(e+b+¢)0000000B00000 s000
00000000000 sO00 heron000000D0000DODOOOOO
oooooooo
00000s000000000000000000000000000
0000000000000000000000000000000000
0000000000000 D000000D0O00DOO0000D0000000
000000000000 000000D0D0O0000

(0000000 CLIfTII)

1.5 Ugoobooboooad

1.5.1 OD0O0OO0Ogoooood

boooooobOobobobobobirwoooooooooboboo
oobooobobobobooboobooboobooboobooooboooon
oooobog irv000oooooobooo

U0 wmi OO000OO00O0ODO0O0O0O0O0O0O0OOOOCOOOOOOO0OOO0
obooooob0OOd0emi.vp0000000O000C0O0O0O

# BMI of a person with height (cm) and weight (kg)
def bmi(height,weight)
weight / (height/100.0) x* 2

end

Ogo0d0 1.1: bmi.rb

0000000000000000 (0000)004rO000O00OOOO
o0bD0oO0oDoO00000oo0ooo0.xp00000000D0O00O Ruby
obooooboooobOoboooobooon

gobooboobodbdtdirwbgobooboboboobaan
googoood

ugb: gbobooboooboboobobooboboobboobod
gbooobird0O0ODbOO0O00000DOO00O00ODO0O0OC0OD0OO0
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irb(main):002:0> [Control] D # 00 irb0 00
cm12345$% irb # irb0 Q0000
irb(main) :003:0> load("./bmi.rb") # 000000
=> true

00 lead 00O0O000OO0O0DOOODODOODOOOOO RbyODOODOOO
gooooooogooboooooogooboxobooobooobooobobo
gbooboobooooboboooobooooboboooobooon
gboooobooooboboooobooooboboooboobooon
o0./0000000000
obooooopoooooboobotbo0mibO0OO0ODOOOODOO

irb(main) :005:0> bmi(188.0, 104.0)
=> 29.4250792213671

ooboooooobOo0 irvv000000000O0O0ODODOOOOOODOD
gooboobooooboobobooooboooboobooooobooobooooonog
gboooobooooboobooooboobooooooo

irb(main) :009:0> load("./bmi.rb")
LoadError: no such file to load -- ./bmi.rb
from (irb):9:in ‘load’

from (irb):9

1.5.2 00OO0O0oOooobooooo -

0[420000000000000000000000000OOOO0O0
oo0ooDooOoO0o0000oOoO0BMIOODODOO bmi_yp O bmi, feet_to_cm,
pound_to_ kg O0ODO 30000000000000000 bpmi_ypO0OO0O
odooooo0ooboO0o0o0obO0OO000bmi, feet_to_cm, pound_to_kg [
goooooooooooooooooo

ooooooooooOoOOOOOODOOOOOOOOOOOOOO00O0
0000000000000 0000000000 (emi_yp) 000000
0000000 (bmi, feet_to_cm, pound_to_kg) 000 00O OOOOO
000000000000000 (bmi.rb, yardpound.rb) 0000000
ooooooooooooo

O0000000000wni_ypO0O0O0O0O0DODOOload("./bmi_yp.rb")
ooooooooooooooOoOOOODOOOODOOOOOOOOOOO
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load ("./bmi.rb")
load ("./yardpound.rb")

def bmi_yp(f,i,p,0)
bmi (feet_to_cm(f,i), pound_to_kg(p,0))

end

oo0O00d 1.2: bmi_yp.rb

1.5.3 00000 (@Ooooooono)

obooooooobobobobir»OdbobbobooboobOoboo
gboboooboobobooobooboooobooboooooboooon
obooooboooooboboooobobobooobooboooboobooon
goo

irb0000000000O0COO00DO0O000O000O0DO00O0000
gbooooboooobobooobodb0OemibD0O000D0000OCO bml
obooooobooobooboobooooboboooboobooon

irb(main):013:0> bm1(188.0,104.0)
NoMethodError: undefined method ‘bml’ for main:
Object
from (irb):13

O0000ROD0O0DmMU000 (00000)000000000 (NoMeth-
odError): bm1 00000000000 (undefined)000000000OBRO
0000000000000 000000000O (irb)0 13000000
gooobooboobobib0b00ODmain:0bject D00 OOOO0OOOO
gbooooboobooboboooobobooobooboooon
goboooooooboooooobooooooboooooooboooooon
oooooooooooboooooooobooboooOoObOoObOoOobo0o0o0oOooon

def bmi(height ,weight)
weight / (height/100.0 *x 2

end

0000 1.3: mistakel.rb

00000000000RUOD0DOD (OD0000D0D0O000oD0UoooO
gboobooboooboobobooogn

T
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irb(main):003:0> load("./mistakel.rb")
SyntaxError: ./mistakel.rb:3: syntax error,
unexpected kEND, expecting ’)°
from (irb):3

0000000000000 0000oooomuggn (SyntaxError):
mistakel.rb 00000000 BOO0O0O0O0O0O0OOOOO)0O0000O
O (expecting) 000000000 (unexpected) end 000000000
00000000000 mistakel. v O0RO0O0O0O0OO0OORIOOOOO
gooooooOoooo)OooooooOoooooooooooooooo
ooooooooboooooooooboo0o ooboooooobooooo
gobobobooboooboobuooboobon
goboobobobobobooboboOoboboboboboboobobooobon
ggodoboboboooooobbobbooooobobboboooouoo

def bmi(height ,weight)
weight / (hight/100.0) ** 2

end

0000 1.4: mistake2.rb

gobobooobooboobobboobooboobooboboon
gooooo

irb(main) :005:0> load("./mistake2.rb")

=> true

gobbodlb leadDO0DOO0OO0OOOODODOODOOODOODODO
gbooobooobooboobbmid0O0OO0OO0OD0OOO0OOCODOOODOOOO
ooooog

irb(main) :022:0> bmi(188.0,104.0)
NameError: undefined local variable or method
hight’ for main:0bject

from ./mistake2.rb:2:in ‘bmi’

from (irb):22

O0000000000000 (NameError): hight 0000000000
(local variable) OO O OO0 OO0OOO (undefined) 00000000000
0000000000 @EO000000000000 ./mistake2.rb 000
oo 2000 emi JOO0DDOODOOOOO0OODDODOOOOOOO
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O00Omistake2.xb 0000 200000000 0height 0 hight OO
oooooooooooooODODODO
(Doooooo:@I2)

1.54 0OO0OOO

U0 leadO000O0O00OO0DOOOODOOOOODOOOOOOODOOOOOO
ooooooooobooobooo BMIODODOODOOO h=188.0 00 w=104.0
gboboooooobooboboboooooboboboouobooboobnOdw
00000000000 ({@UuoooU0ooOooUoooooooon)

00000 emi OOO0OO0O0O0COO0O0O0O0OO0DOCODODOOO 1leoadO OO
obooobodbn0wdODOOOODO

# BMI of a person with height (cm) and weight (kg)
def bmi(height,weight)
weight / (height/100.0) **x 2

end
h=188.0 # 000000000 1loaddDO0O0OO
w=104.0 # OO0 00004

0000 1.5: bmi.rb (bmi.xb 000000000 —00000O0O)

ooooooooOoOoO0oooobOOooooO0oooboboooooboOoooboOo BMI
000000000000 60 k_height, k_weight 0000000 10
gobgooboobooboobooboobooboobooo

# BMI of a person with height (cm) and weight (kg)
def bmi(height ,weight)
weight / (height/100.0) =*x 2
end
def k_height() #K0OOOOO
188.0
end
def k_weight () #KUODOUODODO
104.0

end

0000 16:bmi.vb (0O0O00DO0OO0O0OO0OO—0D00OO)
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FO0O0QUO000000 OO0DoO0o0OU0ooO0OUoooOoOooooOod
1goooooobobooooobobooooobooon
Ub0000000000000 k_height, k_weight HOODOODOOO
obooooooboooooooon

irb(main) :004:0> load("./bmi.rb")

=> true

irb(main):005:0> k_weight ()

=> 104.0

irb(main) :006:0> bmi(k_height (), k_weight ())
=> 29.4250792213671

O00000ooooo10D0oO0oDODDODOOOD0O0O00O0000 k_height()
obobomoobooooooobooog

OO0D0188.0000000 k_.height O OO OO0O0O0O0O0O00OOOOO
gboooobooooboboooobooooboboooboobooon
booooboooobOoboooobobooooboobooooboon
oobooobooboboooboobooboobooboooooobooooon
gbooooooboooobobooooboobooboboooobooo
gboooooboooobooboo

1.6 OOOoon

gbooooboooobobooogooo

include(Math) : cosU sqrt 00000 O0O0ODOOOODOODOOOODOO
goooooooon

=IE‘: ugboboboooobooobobobooooboaoa

googoood

[ooo]{o, 0,p: [04]../0.po0ooooooooooo

oooo
DDDDDDDDDDDDDDDDDDDDDDDDDDDD

sqrt 0000000000000 00000mi O0O00O0O0O0O0O0OO
goooooooo

IR

ge ey

det [DDDO |(0DO, 000,) ([0 ]@end: DOODDODD

gbooobooboooooboooo
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HROMHED  PID S @%%ﬁﬂ%%ﬁ@%ﬁ

_———— === U

?‘FH’ ';:_‘_-_ ““““““““ ST T Tt TT T T
'‘end, ..
EHRTHAZDOED

ERDEDY

def 0 end0 000000000000 ODOUOOOO(0OOO bmi)OO
OOO00D0O0O0OO0000000000O0000000 (height,weight)
goooboooboobooboooboboobo

0000000000000 000 height,weight 0O0O00O0O0ODO
bobobOobobobOobOobOobobOob0obOobODn defO
end000000000DO0COOOOO0OODOOODOOOOOODOOO
oboooboooobooboooboobooobooooboooooon

load("|0OD0OOO " : OOOO0ODOOOODOOODOOODOix»O00O

oooooooooobOooboooooooooooooono . /omi.rb”
cooooooo.,obooooo

1.7 0OO4Od
00 1.3 (00000000) 0000000 RubyO 00000000000

a) 00 1600 1900000000000000O00OO0O0OOOOO0O0O OO0 1OODOOOOO
oOoo0OBMIODOOODO ooooooon

| D0 (em) 0O (kg)
ol 172 59.9
Oo| 1587 51.9

b) 00 2200000000000000000000 CcO00000 F
0F=2C+3200000

c) 0050000000000000

d) 00000000 5358000 00000000000 10000116.16 2008 0 8 OOOOODO
ooon http://wuw.u-tokyo.
ac.jp/stu01/e03_j.html

god
2008-9 0 0 0 O O Ohttp:
//registrar.stanford.

edu/students/finances/
0000 2009 000@0000 21 oono
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fy 000000000000 000 1100000000000 O0 100
ob0 751200000

g) 20060 0000000000000 KatrinaOODOOOOO 17500
oboooooboooobo1gobonbe090onooooon

h) 1000000000000 100000000000000O00ODOO0
000000000000 141%, 000 5414584 00O 0O00D0O0OO0 DOODODOOOOODOO

0000000000000000000000000000Oooon ©00000000000
O0o0oo0 200 30000
000 126000000 00000000000

00 14 (0000) O0D0O0OODO0OUOODDOOOOOUO(@: DO0DOOO
O00U00oO0o0o0ooOoooooooon)

a) V10, (V2V5). V5 V2

b) sin30°, cos30°, tan30°

¢) log 1000, log;y, 100, log, 1000
d) 2.7 (x+00D00O0O)

e) JO0D0OOO09YMOIDOODO 10000 1000 0.0000320362394891
gbooobOoboooobobooog

00 15 (00000) D0 I300000000D0DDO0O0ODO0O0UOO0OO
gbooboobooobooboboooobooooboboooobooon
gboooooogooboo

00 1.6 (00) 00000000 O0OOOOO

a) r=10,y=2(x—3),z=y(y—3)000000 2(»—-3) 00000
gbooooboooooobooooboboooooona

b) 000 200000000000000000

a=3,b=5,c=—70000

(a)

(b) 00000 aa?+ba+c=00000000d0000
)
)

(c) p¢g0 az? +bx+c=00 20000000
(d) 00000 ap?+bp+c000 ag? +bg+c000

00 1.7(0000000) 000000 r=1/116.16 000000000
0000000000000 0000o0oD00o0o0oO0oD0oooOooooon
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